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BASED ON N.C.E.R.T PATTERN:-  

                                 CH –   MEASUREMENT OF   

                                             MASS 

1000 grams is equal to 1 kilogram . 

D. Convert  2850 g into kg  

      2850 g  = 2850  ÷ 1000 

                    = 2850  /   1000   

 

        = 2kg 850 g  



Follow the example and solve.  

B. Convert  to kilograms and grams . 

A. 15 , 500 g   =_________ 

B. 6 , 000 g   = _________ 

C. 18. 580 g =__________ 

D. 6 , 009 g  = __________ 

E. 10 , 000 g = __________ 

F. 19 , 850 g =    _________ 

G. 20 , 000 g = __________ 

H. 6 , 958 g = __________ 

I. 12 , 500 g  = _________ 

J. 20 , 500 g =   _________ 

                   ******* 


